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GENERAL ENGLISH 36.

Dire_ctions : For Questions no. 36 to 38, arn.
idiom or phrase has been used in the sentence.
You have to choose the sentence which explains
the correct meaning of that and shade/darken

the correct answer in your answer sheet.

Example :

Tejas attends Karate classes once in a
blue moon. _

-“\l

J)

(1) Tejas attends Karate cliskes

regularly. _ u:m‘:

T 1 s
(2) Tejas attends Karate classes raE?

(3) Tejas attends Karate cldsses |

]

)

(4) Tejas attends Karate clqﬁiﬁ a7,
frequently but not regularly. &

(L]

O
Explanation : ' I._j-.,‘.-

The answer is Option (2) as the

fortnightly.

underlined part means ‘rare occurrence of
something’. So you have to choose Option
(2) and shade/darken the corresponding
answer In your aﬁswer sheet for this

example.

181 (8-A)

The Managing Director announced that
he was quitting because he does not
want to be an executive in a lame duck.

1) The Managing Director announced
that he was quitting because he does
not want to work in a position where
no one else can match his calibre,

2) The Managing Director announced
that he was quitting because he does
not want to work in an organization
where he is not drawing the salary
commensurate to his competence.

3) The Managing Director announced
that he was quitting because he does
not want to involve himself in the
unfair business model of the
organization;

4) The Managing Director announced
that he was quitting because he does
not want to be an executive who is
disabled and unsuccessful in the
organization.

He had to kick his heels for nearly an
hour when he went to that firm for an
interview.

1) He had to wait and pass the time
aimlessly for an hour when he went
to that firin for an interview.

2) He had to negotiate his terms and
conditions for working for an hour
when he went to that firm for
interview,

3) He had to discuss his salary and
perks for an hour when he went to
that firm for an interview.,

4) He had to face the group discussion
for around an hour when he went to
that firm for an interview.




38.

Directions : Questions no. 39 to 42 are based

Now the management has understeod
that the new employee is diamond in
the rough.

1) Now the management  has
understood that the new employee
may be competitive but couldn’t
undertake the task and finish it.

2) Now the management has come to
know that the new employee is good
at heart and the competence doesn’t
matter.

3) Now the management has realized
that the new employee is a rich
fellow and working as he wants to
sharpen his skills.

4) Now the management has realized
that the new employee has
exceptional qualities when it comes

to work and he is really an asset tos

the company.

on completion of idioms. Fill in the blanks with

the most appropriate word/words from thé

given alternatives and shade/blacken the

sheet.

corresponding circle accordingly in your answer
L -
Example : G
Birds of a feather : . L.L.u

181

(1) fly in a formation
(2) flock together

(3) fly high

(4) flock in wildnerness

Explanation :

Since Option (2) is the correct choice for
the above question, shade/blacken
Option (2) in your answer sheet for this
example.

39.

IKas :

esigh

42.

(9-A)

Let bygones

1)
2)
3)

4)

be bygones
come upon
move on

hang on

Jack of all trades master

1) of one

2) of none

3) tobe done

4) of someone

A thing of beauty is
1) an eternal glimmer
2} ajoy forever

3) adiamond

4) so good to hear
All roads lead

1) to home

2) toRome

3) everywhere

4} to nowhere



Directions : In Questions no. 43 to 46, each 43.
question contains a paragraph of 6 sentences.
The first and the sixth sentences are given in
the beginning and end and numbered 1 and 6
respectively. The four sentences in the middle
are jumbled and labelled P, , R and S. You
must identify the proper order of these four
sentences and shade/blacken the option that
correctly identifies this sequence.

Example :
1. Once upon a time there lived a king.

P. One day while hunting he was
attacked by a tiger. ™
(/)

Q. He had three ferocious huqf‘il@
dogs. .

R. The dogs pounced on the tiger jand and
saved the king’s life. —

S. The king used to take them
him while going out. }

F —

6. He loved them till the end of his &fé}

The correct sequence is {-j.)

(1) PQSR g

2) RQSP O
3) QSPR )

4) SRQP

Explanation :

The correct sequence or order in this
example is QSPR. So you have to
- shade/blacken Option (3) in your answer
sheet.

1)

2)

3)

4)

181 C (10-A)

There are various rights of a

banker.

These have been vested by the law
of the country.

The account holder is authorized to
operate the account through a third
person, in addition to himself, by
suitable authority for one-time basis
and/or also for various functions

through a power of attorney.

Such rights and obligations under
the  special relationship are

mandates and power of attorney.

Along with the rights, there are
certain obligations too which a

banker is required to fulfil.

Such power of attorney is either

general or special in nature.

SPRQ

RQPS

RSPQ

SPQR
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1.

1)
2)
3)

4)

Agents and corporate agents are key

distribution channels to any insurer.

this, IRDA has

prescribed minimum educational

Towards the
qualifications at the point of entry
and practical training followed by

an examination,

Development of these agencies must

be on the best professional lines.

IRDA has also lowered the required {
minimum educational qualification
for rural agents to pass in the tenth

L

standard examination.

LD

i
To aid the growth of insurancsz_{
selling in rural and non-urban
centres,  compulsory targets which |
individual insurers are required to(

fulfil have beén prescribed. {

It has the

Insurance Institute of India to':

also encouraged

conduct qualifying examination ft
the agents and to bring out books
and training material in various

verngcular languages.
PQSR
QSRP
QSPR

QPSR

! ]!‘E’&\&t}

ES13119

e

(11-A)

1)
2)
3)
4)

1)
2)
3)
4)

The fox and the crane were friends
for a long time.

She served the food in a beaker to
the fox. The fox could not eat it
because the beaker was having a
cylindrical neck which was very
high.

The crane could not eat the food
because of its long beak. The next
day it was the crane’s turn to host a
lunch for the fox.

But the fox wanted to show that he
was cleverer than the crane,

So one day he invited the crane for a
dinner and served the food on the
plate.

The fox realized his mistake, put
down his head in shame and went
away.

SRQP
RSQP
SQPR
RSPQ

Unemployment is a burning problem
and a big challenge for the country
today.

They do not get proficiency in
technical line.

The result is youth of our country
roam around without any job.

Qur universities produce more job
seekers than jobs available in the
country.

Young men and women mostly want
office jobs.

The incidents of thefts and other
unsocial acts are due to
unemployment.

SPRQ

RQSP

RSPQ

RQPS



Directions : In Questions no. 47 to 50, there
are sentences which are divided and numbered
into three parts, and one of the parts may
contain an error. Identify the error by (1), (2) or
(3) given under the parts of the sentence. If
there are no errors,
Shade/blacken the corresponding circle in your
answer sheet. '

47.

181

mark (4) No error.

Example :
Neither he nor his team
(1) (2)

were present that day. No error.

(3) (4)

V)

%
=
it

The correct answer in this case is Optien..

Explanation :

(8). It should be “was present that daiy”. 5:}

So you must shade/blacken Option (3)for

this question in your answer sheet, U‘:J
QU

None of the six-qualiﬁers

G
(1 LL

who have been given a chance

(2)

to join this team play confidently.

(3)

No error.

(4)

48.

49,

50.

Not only the doctor but also the nurses

(1)

of this nursing home is very kind

(2)

and helpful to the attendants. No error.

(3} (4)

The lawyers face the

(1)

same problems in their day-to-day lives
(2)
as do an ordinary man of our society.

(3)

- No error.

(4)

If Mahatma Gandhi

(1)

was alive he would start weeping

(2}
to see the present condition of India.

(3)

No error.

(4)

(12-A)




Directions : For Questions no. 51 to 53, a | 83.
passage has been given. In the passage, some of |
the words have been left out. You have to read
the passage and try to understand what it is
about. Then fill in the blanks with the help of
the options given below it and shade/darken
the appropriate circle in your answer sheet.

Suddenly, Royal Challengers | 54.
Bangalore (RCB) lost wickets in a heap. Chris
Gayle went followed by Virat Kohli and A.B. de
Villiers. Another collapse seemed

(51) . Watson batted on to reach 88, his
highest T20 International score to date. Then,
as if it was seripted, he fell to Zaheer Khan in :_.;'
the last over of the match, with Maxwell
pulling off an acrobatic catch behind the

Arv)

&

stumps. The stadium (52) . Every spectator]

ILI

around the Kotla Stadium was on his feet,

|

applauding and cheering Watson as he]
walked (53) like a gladiator who's just won
another battle. )

e

FOresig

T
51. What is the correct answer for the Blankd
(51) ? Select from the options given ]

below. |:
1} doubtful
2} menacing L

3} imminent

4) throwing

&

52. What is the correct answer for the Blank
(52) ? Select from the options given
below. '

1) exploded
2) disabled
3) crunched
4) wrecked

181 (13-A)

What is the correct answer for the Blank
(53) 7 Select from the options given
below.

1} in

2} off

3) on

4) along

Match the following sentences with the
figures of speech used in them :

A. He was faster than the speed of
light.

B. Life is like a box of chocolates; you
never know what you're going to
get.

- C. War is peace. Ignorance is strength.

Freedom is slavery.

D. The tree quaked with fear as the
wind approached.

Figures of Speech :
I. Similie

II. Oxymoroh

ITI. Personification
IV. Oxymoron

V. Metaphor

Select the code. for the correct answer
from the options given below: '

A B C D
I II v IT1
2) It 1 v III
3 vV 1 o Iv
4 Vv 1 v III

Add a suitable question tag to the
sentence given below.

“The laws are certainly in favour of the
particular class.”

1) aren’tthey?
2) are they ?

3 isn’tit?

4) isit?



Directions : For Questions no. 56 and 57, in
each of the following questions, a sentence has
been given in direct/indirect speech. Out of the
four alternatives suggested, select the one which

best expresses the same sentence in
indirect/direct speech and shade/blacken the
corresponding circle in your answer sheet.

56. Rajesh said, I bought a car yesterday.’

(1) Rajesh said that I have bought a car
the previous day.
Rajesh told that he had bought a car
yesterday.
Rajesh said that he bought a car the

(2)

(3)
previous day. : -
Rajesh said that he had i:]tougf:ﬁ"'ar
car the previous day.

(4)

57. The teacher said, ‘Be quiet boys.’
(1) The teacher said that the rﬁ?}jg,:
should be quiet. - .
(2) The teacher called the boys @:rg
ordered them to be quiet. p—
(3) The teacher urged the boys tc{ﬂ‘;}
quiet, »
(4) The teacher commanded the bgil's/

-
(L]

that they be quiet.
Directions : Questions no. 58 to 61 consi@

sentences with a blank in each. You hdvelto
choose the best answer which can be filled™
the blank space and shadel/blacken the

corresponding circle in your answer sheet.

58. The earthquake the people so
suddenly that they had no time to rush

out of their homes.

59. My brother not only has principles but is

capable of for them.
(1) standing up
{2) standing on
(3) standing with
(4) standing upon
60. As the girl was beautiful, the suitor could
not his eyes from her.
(1) take of
(2) take after
(3) takeoff
take with

(4)
61. If one works very very hard, day and

night, it will one’s health.

(1) tellon
(2) tell to
(3) tell upon
(4) tell out

Directions : For Questions no. 62 and 63, a
:Ilsentence has been given in Active or Passive
voice, out of the four alternatives suggested,
select the one which best expresses the same
sentence in Passive or Active voice and
shade/blacken the corresponding circle in your
answer sheet.

.62, Isaw him conducting the rehearsal.
(1) He was seen conducting the
rehearsal.

(2)

I saw the rehearsal to be conducted
by him.

(3)

He was seen by me to conduct the
rehearsal.

(4)

I saw the rehearsal being conducted
by him.

(1) cameout
(2) broke out
(3) came upon
(4) come on

181
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63. His pocket has been picked.
(1) They have picked his pocket.
(2) Picking has been done to his pocket.
(3) Picked has been his pocket.
(4) Someone has picked his pecket.

64. What is the synonym of Conjecture ?
(1) Grave
(2) Outward
(3) Guess
(4) Claim

65. What is the synonym of Admonish ?
(1) Warn
(2) Cajole
(3) Encourage
(4) Abdicate

66. What is the antonym of Exodus ? I:
(1) Influx r
(2) Home-coming .
(3) Return -
(4) Restoration "l

Directions : Read the following passage a:i
answer the items that follow (Questions >
67 to 70). Your answers to these items should b
based on the passage only.

Passage ]

Anthropologist Edward Hall identiﬁex;-
two distinet ways in which members of variou
cultures deliver messages. A low-context
culture uses language primarily to expressj"
thoughts, feelings, and ideas as clearly anc(
logically as  possible. To  low-cont
communicators, the meaning of a statement lis
in the words spoken. By contrast, a
high-context culture relies heavily on subtle,
often non-verbal cues to convey meaning, save
face, and maintain social harmony.
Communicators in these societies learn to
discover meaning from the context in which a
message is delivered including the non-verbal
behaviours of the speaker, the history of the
relationship, and the general social rules that
govern interaction between people. When
delivering difficult or awkward messages,
high-context speakers from countries including

{..AE\-
ol

India, Japan and Korea often convey meaning
through context rather than plainly stated
words to avoid upsetting their hsteners.
Mainstream culture in the United States and
Canada falls toward the low-context end of the
scale. Long-time residents generally value
straight talk and grow impatient with “beating
around the bush”. By contrast, most Middle
Eastern and Asian cultures fit the high-context
pattern. In many Asian societies, for example,
maintaining harmony is important, so
communicators avoid speaking directly if that
would threaten another person’s dignity.

67. What are the aspects that are taken into
consideration by high-context cultures in
»  their communication ?
/) A, The non-verbal behaviours of the
1:3 speaker.
B. The history of the relationship.
ﬁ:" C. DPlainly stated words without
- context and non-verbal cues.
e D. The general social rules that govern
- interaction between people.
:;-) (1) A CandB
2) B,CandD
(3) A,BandD
(4) A, CandD

What does not come under a major
concern of low-context cultures ?

(1) Language

(2) Vocabulary

(3) Non-verbal cues

(4) Words

Who contributed to the study of high and
low context cultures ?

{1} Jacques Derrida

(2) Edward Hall

{3) Jacques Lacan

(4} Edward Said

Which among the following is not a
country that relies on high-context
cultures ?

(1) India

(2) USA

(3) Japan

(4) Korea

70.
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COMPUTER KNOWLEDGE 73. What happens if you select the first and
second slides and then click on the New
Slide button on toolbar in Microsoft
PowerPoint ?

71. All the numbers between 0 to 100 have
to be displayed in red colour. Which of
the following may be used to do that in
MS Excel ?

A. Use=if{) function to Format the
required numbers red.

" (1) A new slide is inserted as first slide
in presentation.

(2) A new slide is inserted as second

slide in presentation.
B. Apply Conditional Formatting

Command on Format Menu.

C. Select the cells that contain

(3) A new slide is inserted as third shide
in presentation.

numbers between 0 to 100 then (4) No slide will be inserted anywhere
click red colour on text colour tool. and a pop-up will be flashed
- displaying an error message.
Which of the options given above is/are (_J' )

()
correct : ’{ZC; Maich the file extensions (List I) with
Select the code for the correct answer : : the type of the file (List II) :
frt_am the options given below : - List] List IT |
(1) AandBonly ;-—" (File Extension) (Type of File)
(2) Band Conly ! E::j')A. SIS I Sourcefﬁesource
String file
(3) Bonly e .
B. .src 1I. Screen Resource
(4) A/BandC ) String file
72. Which of the following can you paste {i ) C. xltx II. Excel workbook
selectively  using  Paste  Special | Swms D. .xlsx IV. Excel template
C d?
ommat ':—_:; E. .ttf V. Storage file for
A. Validation i gallery
B. Formats F. .thm V1. Font file
C. Formula Select the code for the correct answer

fr he opti i low :
Select the code for the correct answer om the options given below

from the options given below : A B C D E F
(1) Aonly (1) 1 I I mw v Vi
(2) Aand Bonly (2) H I w 1 vi v
(3) AandConly 3) I oI mw I v A1
(4) A BandC (4 M 1 m IV VI V
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75. What is cold boot of the computer | 77 Match the generation of computers
system ? (List I) with the systems used in the
' machine (List IT) :

(1) A computer is turned off and then List I List IT
turned back on when the power (Generation of (Systems used in
supply to the computer is Computers) the machine)
interrupted. A. First I. Diodes and

transistors

(2) The computer’s operating system is B. Second II. Microprocessors
changed. '

. C. Third ITI. Integrated

(3) A computer program is uninstalled ) Circuits
from the system when the power D. Fourth - IV. Vacuum tubes
suppl to the computer is
intpp Y tod P : {- J,*-. Select the code for the correct answer

errupted. ¢ from the options given below :

(4) A computer program is reinstalled [ A B C D
from the system when the power E 1 11 v 1 I
supply to the computer iSeffesd (9) 7] I v I
interrupted. ™ @ v m 1 u

4) IV I ITI 11
76. You can use drag-and-drop to embed [w ) )
Excel worksheet data in a Word (ﬁ Consider the following statements :
document . A Java programming language was
(1) created by James Gosling.

(1) By dragging a range of Excel data to e B. C la’ngu'age' was develo!)ed by
the Word button on the taskbar G Dennis Ritchie ﬂ?r the first time.

) ) C. C++ programming language was
while pressing the Ctrl key. I_L developed by Bjarne Stroustrup.

(2) By dragging a range of Excel data to D'_ E}?ifggcia;guage was designed
the Word button on the taskbar Which of the statements given above are
while pressing the Shift key. correct ? '

Select the code for the correct answer

(3) By dragging a range of Excel data to from the options given below :
the Word button on the taskbar (1) Cand D only
while pressing the Alt key. (2) A,BandConly

' (3) A, Cand D only

(4) None of the above 4 AB CandD

» D, L an
181 (19-A)



79. ASCII @@ EBCDIC riwd 2380b egd

80.
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A. =AVERAGE(4,5,86,7)
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ASCII and EBCDIC are popular
character encoding codes and their full
forms are given below :

ASCII - American Standard Code

A
for Information Interchange
B. EBCDIC - Extended Binary Coded

Decimal Interchange Code
Which of the above is/are correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
(4)

A only
B only
Both A and B

Neither A nor B

Which of the following is/are the correct
method/s for using AVERAGE function

in Excel ?

=AVERAGE4, 5, 6, 7)

A
B. =AVERAGE(Al, B1, C1)
C. =AVERAGE(Al:A9, B1:B9)

Select the code for the correct answer
from the options given below :

(1) Aand Bonly
(2) Band Conly
(3) Bonly

(4) A, BandC

ghtka

B

81.

i
e
-

Ore

(21-A)

wee Select the code for
(ﬂ from the options given below :

Match the Computer Languages (List D
with their applications (List II) :

ListI List IT
(Computer (Application)
Language)
FORTRAN In finance and
administrative
system for
_ companies

II. Application in
. education and
special language
for non-science
students

COBOL

HI. Implementing
system software
and developing
portable
application

softwares

C-Language

BASIC . In computational
Physics and

Chemistry

the correct answer

A B C D
(1 1 v I 1
(2) 1 III v I
3 IV HI I IT

v I I IT

Which of the following tools enables you
to add a text to a slide without using the
standard placeholders ?

(1)
(2)
(3)
(4)

Text tool box
Line tool
Drawing tool
Auto shapes tool
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In Microsoft Word, you can force a page
break

(1) By positioning your cursor at the
appropriate place and pressing the

F1 key

(2) By using the Insert/Section break

on the Insert tab

(3) By positioning your cursor at the
appropriate place and pressing

Ctri+Enter

(4) By changing the font size of your

document

86.

Consider the following statements :

A.  Shorteut key to open font dialogue
box is Ctrl + F. y

B. Shortcut key to centre align the
selected text is Ctrl + E.

C. Shorteut key for a spellcheck in a

document is F7,

Which of the statements given above ari
correct ?

Select the code for the correct answer
from the options given below :

(1) A and Bonly
(2) BandConly
(3)  AandConly
4) A BandC

Foresightkas

(23-A)

To copy formatting from one area in a
worksheet and apply it to another area,

you would use :

(1) The Edit>Copy Format and
Edit>Paste Format commands from

the menu

(2) The Copy and Apply Formatting

dialog box, located under the

Format>Copy and Apply menu

(3) There is no way to copy and apply
formatting in Excel — You have to

do it manually

The Format Painter button on the

(4)

standard toolbar

You can select a gingle range of cells in
MS Excel by

(1) Clicking the upper-left cell in a
group of cells and then pressing the
Shift key while clicking the lower
right cell in a group of cells

(2) Pressing the Ctrl key while

dragging over the desired cells

(3) Pressing the Shift key and an Arrow

key

(4) Dragging over the desired cells



87. 20.0%. L Fog se i (D) |89, 1 Fe bR wETE BERdRdR I
Sechn E:Bdﬁ'; ﬁO&)Q@:{Jd éﬁ)ﬁ@& 20 5&2@3@5 . Qﬁc‘éﬁejaﬂi 535:-\3-&

(Reg11) BrotRo ® - .
“ RVVORIFWTC  FOSRT  FoBeSInE)

33 I e 1T
(Toga* B¢ (303) 391 DeBUT S03PT SO :
TETB’ ) - T3 1 - 3 IT
A 271 1 OB mwseo A I Z3odohd)
Sohodnd ERedRy | ) DPonRR) ReuRodd
533687 BRBOZ3 o ;_ﬁ =
B a2 IL 3moh St B. IL. 20T b TWTYT
B jelovebrind QTR BT 99T
C. o4  TIL &0300nT Sgo0d, SHnY SBoTes
A" Wy ~ QeoFomd WerdRT,
auredd () g
D. 277 V. 8n3cd oadrd (19 TS
YIS C. DIH.mm PRBITOT
V. ZFwrE a@s‘-::ﬁ:f odRwe Bl
RREYS. 23T BIRODIT
S Tgddar— | IV, cineite Zaci
oRregd L) D ' =5
" | DOVSIIATW)
¥R Bredhd godnivors X8 =
“ ) | R3S

YUZTTN NOFEBDTIOR -

A B C D {_]J E. V. o3nx)cde deaod
(1 II I v I = ROkt BB

2) 1 I11 v v
22373

3) V v III II
4) 1I I1I I \% VI. 32853 OR

88. o ) 2390807 IO

L for EaumR  wolytvod  Foaing
_} :DO_ YUBTTN ReBeITTOR -

FO

A B.
FENTNGE) IR TOIRAT ? A B C D E
1) A s AND =52, B 055 OR MI 1o m vV
(2) A ohs AND %, B 5 NOR @ o N m v Vv
(3) Ach: OR =3, B 95 NOR : @ I \'% o w 1II
{4) A 53.NAND =8, B 032 OR @I v u VI

181 - (24-A)




87.

88,

181

Match the MS Excel function
key shorteut (ListI) with  the
corresponding actions (List 1) :
ListI List I
(Function Key (Action)
Shorteut)

A F1 I. Activates the
selected cell for
editing

B. F2 II. Opens the help
menu

C. F4 III. Performs  spell
check in selected
range

D. F7 IV. Repeats last
action

V. Refreshes =]
workbook.
Performs
calculations on
formula ’

Select the code for the correct answer
from the options given below :

A B C D

LV M1 IV Il
(2 1 HI v IV
3 Vv IV I I
(4 M m I v - L

Consider these two operators :
A B,
Which of the following is correct ?

(1) Ais AND and Bis OR
(2) Ais AND and B is NOR

(3) Ais ORand Bis NOR
(4) Ais NAND and B is OR

Foresightkas

89. Match the following symbols of the
flowchart (List I} with what they report

(List I} :

a

ike

S

a
-~

IL.

111

List I1

Indicates a delay
in a process

Indicates a
decision point
between two or
more paths in a
flowchart

Can represent any
type of datain a
flowchart

Indicates any
processing
function

Indicates any type
of stored data

Logical OR

Select the correct code from the options

given below :
A B
(1 1 II
(2) II v
3) I \%
(4) II v

(25-A)
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Beyes o) ol s
AIBWT AFIIDoTN
BT sta"ozﬁ_) BoBeBNYY, vBdeameN
By5906 STWPTIY B oerh3B.

(1) DOG,Borf

@) DO[aS0rF

(3) OB or’

4)  2Frivd drgne s

8 B3NS adreds BedBoly Ay ?

(1) Qe Sedmeh  BI3xy,  IIF
DodNoE® R,BRO 1,5 BRBLRE)
00 3% Sejriabo o AP
S, wDReOBTTNG. .

2 @RuF DIIND dFTF ) sy
B B Fo dod Jay

VDT YR, R, @l Kedd

NI mmaié, 3, 0F DTk @g
R, dre Jeewld) ST mo‘hm
B 3oh TBdrIvED. a

1

(3)

(4) Degd >> RCWRUNIE e

B 50855359‘ BredIwBD
OB

80707 T Dol IO WNEE
330 DDAV 023 I wech Bty
)R

(1) 3&° 8efr, d8T°F, 8B0MW
(2)

(3)

éa‘ B4E35F, 5;]0‘ oD, e3F20Mw)
3" 8L, B JoB, BidpeTTTF
" e3e3°r, éaiaﬂ", esairaea’aa‘

(4)

93,

94,

95.

D, BReosy ITTT Dodhoty D 'Beed’
DT’ DOWTERD?

oy 0 et aieaori'.:#as,)t [OTew woth
[enie

(1)

2) DI T F,LF VAT Srerie

(3) DI HodWoLF FeLTRORY YDAV

A Yriata

(4) DedI drzgice Q)

53, 3edabdl) LBBEeom DA
FAVoTRY), SLADIED wtd 3rdFHd

- S BoBnvd

(1) 10 8A,

(2) 15 8f

(3) 2087

4) 25 &hH,

ClogarelalearisliviertilsRat-tetrin
Toderd oiw

1) &S BEOBdo3ue JFedsw B
RodesrzeNd

&:éd @Sdséaéoawa QBedTeny Hed)
TOYaNG

Bogedd, Td) Todemr R eI
RJowdird 0B B0 wed JTVmND
adngde s

(2)

(3)

(4)
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The method of dividing a physical
channel into many logical channels so
that a number of independent signals
may be simultaneously transmitted on it
is referred to as

(1) Multithreading
(2) Multiprocessing
(3) Multiplexing

(4) None of these

Which of the following statements is not
true ?

(1) You ean type a text directly into a
PowerPoint slide but typing in text
box is more convenient.

(2)

From Insert menu choose Picture

and then From File to insert your

images into slides.

(3) You

presentation

can display a PowerPoint

in Normal, Slide

Sorter or Slide Show view,

(4) You can show or hide Task Pane

from View >> Toolbars.

‘What are the three options available in

Picture Menu in Microsoft

PowerPoint ?
(1)
(2)
(3)
(4)

Insert

Clipart, Pictures, Shapes
Clipart, From File, Shapes
Clipart, From Files, AutoShapes
Clipart, Pictures, AutoShapes

(27 -A)
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What is ‘Motion Path’ in Microsoft
PowerPoint ?

(1)
(2)

A path to move items on a slide

A path where PowerPoint files are

saved

(3) A path where PowerPoint program

is installed

None of the above

4)

Holding down the Shift key and rotating
the image will rotate in increments of

(1) 10 degrees

(2) 15 degrees

20 degrees

(4) 25 degrees

For an algorithm the complexity of the
average case is

(1)

Much more complicated to analyze

than that of worst case

(2)

Much more simpler to analyze than

that of worst case

(3) Sometimes more complicated and
some other times simpler than that

of worst case

None of the above

(4)
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dogf BN BRIDTNDYIL,

RIar.TRa

(1) Sreb3adh B3 ol 533
Bon®dart BowoddBe3
Suddod read, @) Suad
Sre30ndR ABozTeN
wBTINH3ES

wHedS ovde B0H3HW

eI odreyTie a’B@éﬁw R

(2)
3)

(4)

B BUAS DSed FIYNVY e
80D 3Fe7, FbabIxy Beodd?

.
(1) Bor@ R,08 (523 DiZeed) U ;:
{2) mérj‘ L35 wwer DH3ed .

3) anglas deeck ited

(4) RAM

RBRewT | DB IR NI
Bersnem) Zoricda :

N\
it
C
O)

A, DOBRET %, )
. OTRET FF & {].)
-

B
C. Horrese 7
D. Q0BRET 207

BNy ORNEIRT gmngawe;
fa@ﬁeds% Bk,

e wodyned, Focing w3oreRd
S0,
(1)
(2)

(3)
(4)

D,B,A,C
B,A,C,D
A BC,D
B,A,DC

100.

(@)

(8)

800 & Seobrderdo

(1) VLD mafabaigt eruaizs abag 3 geadnt

IOI3FTew

abod, ma’abaig‘ g3 DV
TomadaN ZIOISrTew

o3, eIobAy PRt S0I3rew

4) oo ma‘abaig( w33 Ded

o aireR BOSI3rTew

39NS TeeBnI) TOneswd :

A, Q0.0FF. dw‘réﬂe}ﬁ no% %o
Bezmometh Je 500.

B. @027, 280" IS NROF weo

Besmomoty Je 400.
C. 0.7, TSTTHOWOETTAT o
%0 B80Ty Be 400.
R0edT BePFnTS ANRF / FH R0 ?
Batitds  sodynvon  RofeEny  Sawwes
feleviria emgdrws% SO

1 A SRS

@ A 3B 303
8) B K C 20

4) A BIHRC
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Linked lists are best suited

(L)
of data

(2)

changing
For both of the above situations

(3)

(4) For none of the above situations

Which of the following memories has the

shortest access times ?
(1)
(2)
(3)
(4)

Cache memory

Magnetic bubble memory
Magnetic core memory
RAM

Consider the following versions
Microsoft Windows :

A, Windows Vista
B. Windows XP
C. Windows 7

D. Windows ME

Put them in the chronological order of

their release.

Select the correct code for the answer

from the options given below :
(1) D,B,AC
(2) B,ACD
3 ABCD
4y B,A/D,C

Yor relatively permanent collections

For the size of the structure and the
data in the structure are constantly

of

esIgntkas

- Ol
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What is the function of an Assembler ?

(1)

(2)

3

(4)

To convert basic language into high
level language

To convert machine language into
high level language

To convert assembly language into
machine language

To convert assembly language into
high level language

Consider the following statements :

A.

Maximum zoom percentage in
MS Word is 500%.
Maximum zoom percentage In
MS Excel is 400%.
Maximum zoom percentage in

Microsoft PowerPoint is 400%.

Which of the above statements is/are

true ?

Select the code for the correct answer

from the options given below :

(1)
(2)
(3)
(4)

A only
A and B only
B and C only -

A, BandC
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